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Instructions for the Candidates
Write your Hall Ticket Number in the space provided on the top
of this page.
This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requestedto open
the booklet and compulsorily examine it as below :

(i) Tohave access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.

After this verification is over, the Test Booklet Number

should be entered in the OMR Sheet and the OMR Sheet

Number should be entered on this Test Booklet.

Each item has four alternative responses marked (A), (B), (C)

and (D). You have to darken the circle as indicated below on the
correct response against each item.

Example: @ ‘ ‘ @

where (C) is the correct response.

(ii)

(iii)

Your responses to the items are to be indicated in the OMR Answer
Sheet given to you. If you mark at any place other than in the
circle in the Answer Sheet, it will not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.

The candidate must handover the OMR Answer Sheet to the
invigilators at the end of the examination compulsorily and
must not carry it with you outside the Examination Hall. The
candidate is allowed to take away the carbon copy of OMR
Sheet and used Question paper booklet at the end of the
examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.
There is no negative marks for incorrect answers.
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. Labelling theory is a part of

theory on crime.
(A) Functional
(B) Conflict

(C) Interactionist

(D) Exchange

Who is the first person to use ‘Participant
Observation’ method ?

(A) A.R. Radcliffe — Brown

(B) B. Malinowski
(C) Auguste Comte
(D)

D) E. Durkheim

Find the incorrect match.
(A) Horizontal Group — Craft Union
(B) Kinship Group — Clan
(C) Secondary Group — Corporation
(D) Primary Group — Political Party

Who among the following argued that
nuclear family developed with the
emergence of private property ?

(A) G.P.Murdock

(B) Herbert Spencer

(C) Frederick Engels
(

D) Talcott Parsons
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5. ldentify the chronological order in which
the works of Emile Durkheim appeared.
1. Rules of the Sociological Method
2. Suicide
3. Elementary Forms of Religious Life
4. Division of Labour in Society
(A) 1,3,4and 2
(B) 4,1,3and 2
(C) 4,1,2and 3
(D) 1,3,2and 4

6. Identify the correct sequence in which the
following books were published.

1. Social change in Modern India
2. India’s changing villages

3. Modernization of Indian Tradition
4. Caste and Race in India

(A) 4,1,2and 3
(B) 2,4,3and 1
(C) 4,2,1and 3
(D) 2,3,1and 4

7. Based on the following statements,
choose the correct code.

1. A sample should be representative
2. A sample should be random

3. Samples having large size are the best

Code :
(A) 1,2 are true 3 is false

(B) 1istrue, but2 and 3 are false
(C) 2,3 aretrue but1is false
(D) 1, 2 are false but 3 is true

=
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Which of the following are related to
R.K. Merton’s modes of individual
adaptation ?

1. Conformity
2. Adaptation
3. Ritualism

4. Retreatism

5. Rebellion

o

Conscience
7. Socialization

(A) 1,2,4,5and 6

(B) 1,3,4and 5

(C) 1,3,4,5,6and 7

(D) 3,4,5and 6

Choose the correct sequence of
conducting research.

1. Review of literature

2. Formulation of the problem
3. Data collection

4. Coding

5. Hypothesis formation

Analysis of data

A) 2,1,4,3,6and5
B) 1,2,3,4,6and 5
C) 1,2,4,3,5and 6
D) 2,1,5,3,4and 6
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(B) 1,3, 4558a50 5
(
(

C) 1,3, 4,5, 65000 7
D) 3, 4, 5508050 6
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According to Auguste Comte, each
society has to pass through which of the
following stages ?

1. Functional
2. Theological
3. Metaphysical
4. Positive
(A) 2,3,and 4
(B) 1,2and 3
(C) 1,3and 4
(D) 1,2,3and 4
Choose the code which depicts the correct

sequence in which the following Indian
sociologists were born ?

1. M.N. Srinivas

2. G.S. Ghurye

3. Yogendra Singh
4. S.C. Dube

Codes :
(A) 2,4,1and 3
(B) 1,2,4and 3
(C) 1,4,3and 2
(D) 2,1,4and 3

Based on the following statements,
choose the correct code.

1. t-testis a non-parametric test
2. F-testis a parametric test

Codes :

(A) Both 1 and 2 are true
(B) 1istrue, but2is false
(C) 1isfalse, but 2is true
(D) Both 1 and 2 are false

10. ey S ODEFR0E HS BooY), BT

11.

12.

808 oo U Tresstod
1. B

2. BB RES

3. b PO5 &%

4, Fo3S

(A) 2, 3300050 4

(B) 1,2%0005 3

(C) 1, 33000 4

(D) 1,2, 35%58a50 4

o (300 grEdsy B W‘@f@w IS
(000 0T BIboD §°ED Hogotowa

1. oo, da. é’a’)@w%%

2. . UoR. 350y

3. &FelEs Boh

4. Ao, B, &7

gi&a .

(A) 2,4, 15580503
(B) 1,2, 45580503

(C) 1,4, 3558050 2
(D) 2, 1, 4 %5004 3

Bod g0 T esTIom BOWXD &0
1o8etod

1. t- 83 870 FomoEds 83
2. F-83 w8 >oaoeds 83
gﬁ&o .

(A) 150000 2 $gS

(B) 15050 50 2 &y

(C) 155y 0 2 ¥380

(D) 15000 2 5rc iy

A-22-02



13. Match List I with List II.

List |
I. Comparative
method

Il. Verstehen
lll. Inductive
method

Listll
1) Francis Bacon

2) J.S. Mill
3) Emile Durkheim

IV. Inverse deductive 4) Max Weber

method
I I
(A) 3 1
(B) 3 4
(C) 4 2
(D) 4 3

N W = A
- = N DN

14. Match the following authors with their

books.
Authors
I. A.R. Radcliff Brown 1)

Il. Herbert Spencer 2

I1l. R. Darendorf 3)

IV. Auguste Comte 4)

w &~ N B>

=

Books
Positive philosophy

Structure and function

in primitive society

Class and class conflict

in industrial society

Principles of sociology

i v

N W oW W
Ao aN

13, 395150 395 11 & soisued.

B | sl
|, 500038 Sos& 1) FRye 250
| IEISEOS 2) B2, 08
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I ] i v
(A) 3 1 4 2
(B) 3 4 1 2
(C) 4 2 3 1
(D) 4 3 2 1
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15. The following have made great

contribution to the development of
sociology. What is the order in which they

were born ?

1. Karl Marx

2. Max Weber

3. Emile Durkheim

4. Herbert Spencer
(A) 4,1,2and 3
(B) 1,4,3and 2
(C) 4,1,3and 2

(D) 1,4,2and 3

. ldentify the measures of variation that are
affected more by extreme values.

1. Range

2. Mean Deviation

3. Quartile Deviation

4. Standard Deviation

(A) 2,8,4

(B) 1,2,3

(C) 1,3,4

(D) 1,2,4
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Which of the following statements are
correct ?

1. Status is a high social position within
society

2. Role is the behaviour appropriate in a
society

3. Anindividual may play more than one
role in a social system

Status is either ascribed or achieved
) 1,2, 3 are true but 4 is false

) 3,4 are true but 1, 2 are false

4.
(A
(B) 1,4 are true but 2, 3 are false
(C
(D) 1,2,3and 4 are true

Given below are two statements, one
labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : Pareto termed logical
explanations of non
logical
derivatives.

actions as

Reason (R) : Nonlogical actions can
not have logical

explanations.

Which of the following is the correct
answer ?

(A) ‘A’ is correct but ‘R’ is wrong

(B) Both ‘A’ and ‘R’ are correct

(C) ‘A’is wrong but ‘R’ is correct

(D) Both ‘A’ and ‘R’ are wrong
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A) 1,2, 3500, 5504 8%y

B) 1, 4053, 30 2, 38y

(A)
(B)
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19. Who among the following considers
deviance as a gap between cultural goals
and institutionalized means ?

(A) Emile Durkheim
(B) Max Weber

(C) Talcott Parsons
(D) Robert K. Merton

20. Match the following authors with their
books.

Authors

. Mclver

Books

1) Invitation to

Sociology
Il. Kingsley Davis 2) Society

3) The Social
Order

4) Human Society
| [} Iv

lll. Peter Berger

IV. Robert Bierstedt

(A)
(B)
(C)

N = N =

C
(D) 2

A =2 N W
- W s~ b
W b~ W=

21. The measures of variability are
1. Median

Range

Mean

Standard Deviation

o~ 0D

Mean Deviation

Codes :

(A) 2,3,4and 5
(B) 1,2,4and 5
(C) 1,2,3,4and 5
(D) 2,4and5

| =2 10
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22. Identify the correct sequence according to
Auguste Comte.

1. Astronomy
2. Mathematics
3. Biology

4. Physics
5
(
(
(

. Sociology

A) 1 2 4 3 5

B) 1 2 3 4 5

C) 2 1 4 3 5

(D) 2 1 3 4 5
23. Match the following.

Social Thinker Concept

I. Alfred Michels 1) Lions and Foxes

ll. Gaetano Masca 2) Iron Law of

Oligarchy

lll. Vilfredo Pareto  3) Power Elite

IV. Wright Mills 4) The Ruling Class
| I m v
(A) 2 4 1 3
(B) 1 3 2 4
() 2 3 4 1
(D) 4 3 2 1

24. B. Malinowski related the functions of
institutions to

(A) Social needs
(B) Psychological needs
(C)

(D)

Structural needs
Cultural needs

Il = 11
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26.
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Which of the following features are
associated with primary groups ?

1. Impersonal relationships
. Achieved status

. Personal interests

. Enduring relationships
. Size need not be small
A) 3and 4

2,3,4and 5

1,3and 4

2
3
4
5
(
(
(
(D) 3,4and5

B)
C)
D)

Given below are two statements, one is
labelled as Assertion (A) and the other as

Reason (R).

Assertion (A) : Karl Pearson introduced
the measure of ‘coefficient
of correlation’.

Reason (R) : KarlPearson’s coefficient

of correlation is a
measure that explains
relationship between two

quantitative variables.

Which of the following is the correct
answer ?

(A) ‘A’ is correct but ‘R’ is wrong

(B) Both ‘A’ and ‘R’ are correct

(C) ‘A’ is wrong but ‘R’ is correct

(D) Both ‘A’ and ‘R’ are wrong
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27. |dentify the forms of social stratification
from the following.

1. Class 2. Caste

3. Estate 4. Race
(A) 2,3and 4
(B) 1,2and 4
(C) 1,2and 3
D)

(D) 1,2,3and 4

28. The racial theory of the origin of caste
system was propounded by
(A) Herbert Risley
(B) Robert Nesfield
(C) Manu
(D) J.H.Hutton

29. Given below are two statements, one
labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : Herbert Blumer holds
that meanings arise out
of the social interaction.

Reason (R) : According to him,
people act on the basis
of meanings which are
modified through

interpretative process.

Which of the following is the correct
answer ?

(A) ‘A’ is correct but ‘R’ is wrong

(B) Both ‘A’ and ‘R’ are correct

(C) ‘A’is wrong but ‘R’ is correct

(D) Both ‘A’ and ‘R’ are wrong
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30. Given below are two statements, one is
labelled as Assertion (A) and the other as

Reason (R).

Assertion (A) : Reliability and validity
are related to each

other.

Reason (R) : A measures can notbe
reliable without being

valid.

Which of the following is the correct

answer ?

(A) ‘A’ is correct but ‘R’ is wrong
(B) Both ‘A’ and ‘R’ are correct
(C) ‘A’ is wrong but ‘R’ is correct

(D) Both ‘A’ and ‘R’ are wrong

31. Among the following, who made a
distinction between historical causality
and sociological causality ?

(A) C. H. Cooley
(B) R. Linton
(C) Robert K. Merton

(D) Max Weber
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32.

33.

34.

=

Given below are two statements, one is
labelled as Assertion (A) and the other
as Reason (R).

Assertion (A) : The positivist approach
is based on the
physical science
model.

Reason (R) : Positivism holds that

social phenomena
obey the laws in the
same way as physical
phenomena.

Which of the following is the correct
answer ?

(A) ‘A’ is correct but ‘R’ is wrong

(B) Both ‘A’ and ‘R’ are correct

(C) ‘A’is wrong but ‘R’ is correct

(D) Both ‘A’ and ‘R’ are wrong
Which of the following methods are

suitable for collecting data from non-literate
societies ?

1. Questionnaire

3. Interview

(A) 1,2and 3
(B) 2,3and 4
(C) 1,2,3and 4
(D) 2and 4

Given below are two statements, one is
labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) :

2. Observation
4. Case study

Historical and comparative
methods are used in
sociology to study a
problem.

: The sociologist must
ensure that there is
subjectivity in his study.

Which of the following is the correct

answer ?

(A) ‘A’ is correct but ‘R’ is wrong
(B) Both ‘A’ and ‘R’ are correct
(C) ‘A’is wrong but ‘R’ is correct
(D) Both ‘A’ and ‘R’ are wrong

Reason (R)
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35. Given below are two statements, one is
labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : Anti-Brahmin movement
cannot be considered
as reference group
behaviour.

Reason (R) : There can be positive
or negative reference

groups.

Which of the following is the correct
answer ?

(A) ‘A’ is correct but ‘R’ is wrong

(B) Both ‘A’ and ‘R’ are correct

(C) ‘A’ is wrong but ‘R’ is correct

(D) Both ‘A’ and ‘R’ are wrong

36. The concept of ‘Explicit and Implicit’

elements of culture was propounded by
(A) Alfred L. Kroeber

(B) Franz Boas

(C) Edmund Taylor

(D) Clyde Kluckhohn

37. According to Emile Durkheim, Societies
with high division of labour tend to have
which of the following ?

1. Organic solidarity
2. Repressive law
3. Mechanical solidarity

4. Restitutive law
(A) 1and 2

(B) 1and 4
(C) 2and 3
(D) 3and 4

=

16

00O O
35. (8ot gy Tot TES® el BOFS (A)
Tond wrasd (R).

BSOS (A) @i H$O08 GEITR,
BT, BHoT (BRYHT
PR STRIGIVLS)

ey (R)  : DOPH Y, DF RS0

STg e Glew TS
otson,

Bod T%3E° DB V@S BwFGHse 9
(A) ‘A 2063550 =0 ‘R iy
(B) ‘A’ 50005 ‘R’ Totr $0GIKw
(C) ‘A’ Sy =0 ‘R’ 000
(D) ‘A’ 558a5 ‘R’ Botr® Sy
36. et 0o w0880 oD woTres &Y
TR (OFBOAD
(A) @@Qé 8. §%b
(B) gro& 56
(C) el Beb
(D) 3& 55585
37. a8 G apis wPIRrabed” NOSRSN i Vg
&y BoPepen S 208 TS 3D DA GoeFond
1. womeny Sk
. e3RS DePed
. PO SRYD
- RDRTTTS W0
A) 1 5000 2
B)
C)
D)

2
3
4
(
(B) 1 %0050 4
(C) 2500052 3
(D) 3 %08aux 4

A-22-02



LT
38. Find the median of the following values :
7,42, 30, 15, 26, 09, 32
(A) 9
(B) 15
(C) 30
(D) 26

39. Given below are two statements, one is
labelled as Assertion (A) and the other as

Reason (R).

Assertion (A) : Social mobility was
possible in traditional
caste system.

Reason (R) : Some times the castes

that move up rejected
the life style of the
upper castes.

Which of the following is the correct
answer ?

(A) ‘A’ is correct but ‘R’ is wrong

(B) Both ‘A’ and ‘R’ are correct

(C) ‘A’is wrong but ‘R’ is correct

(D) Both ‘A’ and ‘R’ are wrong

40. Research carried out to improve a social
situation, social group or organization is
called

(A) Social Survey

(B) Developmental Research
(C)
(D)

D) Progressive Research

Action Research
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41. Given below are two statements, one is
labelled as Assertion (A) and the other as

Reason (R).

Assertion (A) : If the sum of the product
of the deviations of the
scores from their
respective meansis 0, the
correlation coefficient is 0.

Reason (R) : The value of correlation

coefficient lies between
Oand 1.

Which of the following is the correct
answer ?

(A) ‘A’ is correct but ‘R’ is wrong
(B) Both ‘A’ and ‘R’ are correct
(C) ‘A’ is wrong but ‘R’ is correct
(D) Both ‘A’ and ‘R’ are wrong

42. Match List | with ListII

List | List Il

I. Homo Hierarchicus 1) Andre Beteille
[l. Caste in Modern India  2) Louis Dumont
[ll. Caste, Class and Power 3) Rajni Kothari

IV. Caste in Indian politics  4) M.N. Srinivas

| I m v
(A) 1 2 3 4
(B) 2 1 4 3
C) 2 4 1 3
(D) 1 4 2 3
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43. Functionalism developed as a reaction
against
(A) Cultural relativism
(B)
(C)
(D)

44. Given below are two statements, one is
labelled as Assertion (A) and the other as

Positivism
Evolutionism
Diffusionism

Reason (R).

Assertion (A) : Elite theory can be
regarded as a reaction
against Marxism.

Reason (R) : Elite theory holds that

even in a democracy,
only a minority rules.

Which of the following is the correct
answer ?

(A) ‘A’ is correct but ‘R’ is wrong

(B) Both ‘A’ and ‘R’ are correct

(C) ‘A’is wrong but ‘R’ is correct

(D) Both ‘A’ and ‘R’ are wrong

45. Match List 1 with List

List| Listll
I. Max Muller 1) Animism
Il. E.B. Taylor 2) Totemism
lll. Emile Durkheim 3) Fetishism
IV. Auguste Comte 4) Naturism
I ] ! Iv
(A) 3 1 2 4
(B) 4 1 2 3
(C) 4 2 1 3
(D) 2 4 1 3
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Q. No. 46 - 50

Read the passage below and answer the

questions that follow based on the passage.

Marx’s belief in classless society rested on
his argument that property is the essential
determinant of class interest. This implies
that if everyone has exactly same
relationship to property, there can be no
class divisions. If no one owns land or
capital and there are no rents and profits
labour will get all of its ‘surplus value’ and
exploitation will end. In other words,
abolishing property will end social conflict.
Orthodox communists share this view, and
other Marxists and Socialists believe that
the abolition of private property will remove
many of the systematic conflicts they
perceive in social life Non-Marxists, of
course disagree, as do many Marxian
analysts who share Marx’s belief in the
primary importance of economic factors.
They question whether the abolition of
property necessarily abolishes systemic

differences of interest among social groups.
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Their reason for questioning this is the

existence of the state and state power.

Marx described the state as an instrument
of class rule, and he saw political
domination as a reflection and expression
of conflict between classes. He therefore
argued that, with the establishment of
classless society, the state too would be
abolished, and instead of a coercive
structure there would remain only routine
and uncontroversial administrative tasks. It
is not at all obvious, however, that this is
likely, as we can see from Marx’s own

description of the state apparatus.

... the state made class exploitation possible
by providing stability under which one
group was able to remain dominant ... the
state was actually an instrument of class
rule ... officials may be seen as a separate
group with independent interests ... In that
case it is a good deal less plausible to
suppose that a coercive state apparatus,
the distinction between state and society,
and the potential for conflict over state

control will disappear.
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46. Non-Marxists do not agree with the idea of
(A) Abolition of private property ending
class conflicts
(B) Primacy of economic factor
(C) Existence of state power
(D) Ending exploitation
47. As perthe passage, exploitation is a result
of which of the following ?
1. Abolition of surplus value
2. Class divisions
3. Abolition of private property
4. Existence of surplus value
A
B
C
D

2and 4
1,2and 3

(A)
(B)
(C) 2and 3

(D) 2,3and 4

48. The view point of Orthodox Communists

was
(A) Everybody has same relation to
property
(B) Abolishing private property will not
end conflict
(C) Abolishing private property will
eliminate conflict
(D) Abolition of private property is never

possible
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49. The core concept of Marxian theory is that
political domination.
(A) is a consequence of existence of
class
(B) is a cause for exploitation of labour
(C) isindependent of class inequalities

(D) is equally important as economy

50. Which of the following statements are
correct ? Select from the codes.
1. State protects labour
2. Classes are distinguished on the
basis of surplus value
3. State is an instrument of the officials
4. If there is no property, there will be
no classes
5. Surplus value is the reason for the
exploitation of labour
Codes :
(A) 1,2, 4 and 5 are correct
(B) 3,4 and 5 are correct
(C) 4 and 5 are correct

(D) 1, 3 and 4 are correct
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